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o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIBEE + RIBLTEE + fEERE)
(Bl EEHEH) 0.240 m3 = 0.600 * 0.050 * (8.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 |[FE = SRS U LR
(i EEHEHI) 0.240 m3 = 0.240
B ALy JE 1 |FE = wHIEIELE
(HEH) 1.152 m3 = 1.152
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 1.488 m3 = 1.488
B ALy JE 3 |HE = WHIEE L=
(HEH) 2.064 m3 = 2.064
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T T & 2 %+ B & (8 & % )
HEtEEEBS . 20000100
TiEES | 03 | THEEW [ABKEAEIEHPPE G150 = | 03 | —F&#H [d@2YI$—(800)
[EE] EHEEEEE A
4 B 1 [ = (LTEE + {BVEE + AMER + WEUER) + (GEFREIE - WEiRbig) < MFmEIR) X ok
3.000 m = ((1.500 + 0.000 + 0.000 + 0.000) + ((1.200 - 1.200) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
1.800 m2 = 1.200 * (1.500 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
0.432 m3 = 1.200 * 0.240 * (1.500 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
0.558 m3 = 1.200 * 0.310 * (1.500 + 0.000 + 0.000 + 0.000)
e 3 [BcE = (REIIE x B2 - BEE) X (LTEE + MEER) + GRHIE X 84 X (RIEIER + AREE))
1.006 m3 = ((1.200 * 0.580 — 0.025) * (1.500 + 0.000)) + (1.200 * 0.580 * (0.000 + 0.000))
i IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
1.800 m2 = 1.200 * (1.500 + 0.000 + 0.000 + 0.000)
BAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
1.800 m2 = 1.200 * (1.500 + 0.000 + 0.000 + 0.000)
BAZIE IR 9 [BE = WEE < (LTEE + AHIER + AREE + MEER)
1.800 m2 = 1.200 * (1.500 + 0.000 + 0.000 + 0.000)
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T I % E & E E iR =)
SRETETEES : 20000100 H#)%EHE]
| T@&%s | 03 | IE&#M [ARKEXEIEHPPEA 150 - +ES | 03 | —t&# [y (800)
JEFER R & |t 3 L 15 / it 3 =
PEHIHE O B L 1 [FE = WHE X BEA X (ETHER + RER + REER + fEER)
0.558 m3 = 1.200 * 0.310 * (1.500 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |HE = ((REIE X B - FhfE) X LTHER) + (RAE X BEA X (RIFEE + RIIEE + MEIER))
1.006 m3 = ((1.200 * 0.580 — 0.025) * 1.500) + (1.200 * 0.580 * (0.000 + 0.000 + 0.000))
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIBEE + RIBLTEE + fEERE)
(Bl EEHEH) 0.090 m3 = 1.200 * 0.050 * (1.500 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 |[FE = SRS U LR
(i EEHEHI) 0.090 m3 = 0.090
B ALy JE 1 |FE = wHIEIELE
(HEH) 0.432 m3 = 0.432
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 0.558 m3 = 0.558
B ALy JE 3 |HE = WHIEE L=
(HEH) 1.006 m3 = 1. 006
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+T T &% E ft E & (& B % )
SRETEEEES . 20000100
TEES | 03 [ TEE#  [RBKEXEISEHPPEA 150 -+&S | 04 | —te#H  |HEREIKSIEAE (800)
JEFE R IEI Gl B Al 15l / it B M
R 1 = ((BTER + RIEVIER + 3URIER + WL R) + (GEFRANE - SmiEaig) X fkFREITE)) X Bialik
2.800 m = ((1.400 + 0.000 + 0.000 + 0.000) + ((1.150 — 1.150) * 0.000)) * 2.000
(Rl 1 |FE = AR X (ELER + RIEER + ER + EIER)
1.610 m2 = 1.150 * (1.400 + 0.000 + 0.000 + 0.000)
JHE 1 |[FE = BElE X A X (ETIER + RIEER + AER + MEER)
0.386 m3 = 1.150 * 0.240 * (1.400 + 0.000 + 0.000 + 0.000)
I 2 |FdE = HBHIE X JBEA X (RTIER + RIEEERE + SRITEE + MEER)
0.499 m3 = 1. 150 * 0.310 * (1.400 + 0.000 + 0.000 + 0.000)
JHE 3 [ = (HRHIE X JEAH - BEE) X (LLIERE + ZEER)) + (RAE X JEH X (RIIEE + RAIEERE))
1.220 m3 = ((1.150 * 0.780 - 0.025) * (1.400 + 0.000)) + (1.150 * 0.780 * (0.000 + 0.000))
EiEIEIH 1 |FdE = AR X (ELER + RIEER + 3UER + EIER)
1.610 m2 = 1.150 * (1.400 + 0.000 + 0.000 + 0.000)
AT IH 1 |[EE = g X (ETER + RIBER + RIEER + MEER)
1.610 m2 = 1.150 * (1.400 + 0.000 + 0.000 + 0.000)
AR IH 2 |EdE = HBHIE X (ETIEE + RIEERE + REEE + MELER)
1.610 m2 = 1.150 * (1.400 + 0.000 + 0.000 + 0.000)
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T I % E & E E iR =)
SRETETEES : 20000100 H#)%EHE]
| T@&%s | 03 | IE&#M [ARKEXEIEHPPEA 150 - &S [ 04 | IL—F&F [HEREKD KA (800)
JEFER R & |t 3 L 15 / it 3 =
PEHIHE O B L 1 [FE = WHE X BEA X (ETHER + RER + REER + fEER)
0.499 m3 = 1.150 * 0.310 * (1.400 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |HE = ((REIE X B - FhfE) X LTHER) + (RAE X BEA X (RIFEE + RIIEE + MEIER))
1.220 m3 = ((1.150 * 0.780 — 0.025) * 1.400) + (1.150 * 0.780 * (0.000 + 0.000 + 0.000))
o Uy ] 1 |BSER R = IR X BEA X (TR + {EERE + TR + MEIER)
(Bl EEHEH) 0.080 m3 = 1.150 * 0.050 * (1.400 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 R = BEEIEHIE LS LR
(i EEHEHI) 0.080 m3 = 0.080
B ALy JE 1 |%E = EEIEUE LR
(HEH) 0.386 m3 = 0.386
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 0.499 m3 = 0.499
B ALy JE 3 |EkE = JEHIEE LA
(HEH) 1.220 m3 = 1.220
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T T & 2 %+ B & (8 & % )
HEtEEEBS . 20000100
TiEES | 03 | THEEW [ABKEAEIEHPPE G150 = [ 05 | J—F&F |HEREKS %S IS E (800)
[EE] EHEEEEE A
4 B 1 [ = (LTEE + {BVEE + AMER + WEUER) + (GEFREIE - WEiRbig) < MFmEIR) X ok
3.200 m = ((1.600 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
0.960 m2 = 0.600 * (1.600 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
0.230 m3 = 0.600 * 0.240 * (1.600 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
0.297 m3 = 0.600 * 0.310 * (1.600 + 0.000 + 0.000 + 0.000)
e 3 MR = WHIE X A X (ETER + RHIER + AREE + MELER)
0.566 m3 = 0.600 * 0.590 * (1.600 + 0.000 + 0.000 + 0.000)
i IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
0.960 m2 = 0.600 * (1.600 + 0.000 + 0.000 + 0.000)
BAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
0.960 m2 = 0.600 * (1.600 + 0.000 + 0.000 + 0.000)
BAZIE IR 9 [BE = WEE < (LTEE + AHIER + AREE + MEER)
0.960 m2 = 0.600 * (1.600 + 0.000 + 0.000 + 0.000)

_17_

kT 2 AKE R




T I % E & E E iR =)
HErEEHEES 20000100
| T@&%s | 03 | IE&#M [ARKEXEIEHPPEA 150 - &S [ 05 | J—F&F |HEREKS %S IS E (800)
JEFER R & |t 3 L 15 / it 3 =
PEHIHE O B L 1 [FE = WHE X BEA X (ETHER + RER + REER + fEER)
0.297 m3 = 0.600 * 0.310 * (1.600 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |HE = ((REIE X B - FhfE) X LTHER) + (RAE X BEA X (RIFEE + RIIEE + MEIER))
0.526 m3 = ((0.600 * 0.590 — 0.025) * 1.600) + (0.600 * 0.590 * (0.000 + 0.000 + 0.000))
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIBEE + RIBLTEE + fEERE)
(Bl EEHEH) 0.048 m3 = 0.600 * 0.050 * (1.600 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 |FE = SEEEE e L&
(i EEHEHI) 0.048 m3 = 0.048
B ALy JE 1 |%E = EEIEUE LR
(HEH) 0.230 m3 = 0.230
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 0.297 m3 = 0.297
B ALy JE 3 |EkE = JEHIEE LA
(HEH) 0.566 m3 = 0.566
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